ORSA™ o
www.orsa-ltd.com

N, Charge )
MODEL |f, [ 4|2 . b | ENg [Pe ﬂ ﬁ H
S L1 Pmax L
X

€S420V1 | 420 | @25 | 6-50 | 56-195| 165 M6 v
CSE420V1| 420 | @25 | 6-50 | 56-195| 165 M6 v X
cs770v2 | 770 | 932 | 6-50 | 63-195 | 150 M6 X v
CSE770V2| 770 | @32 | 6-50 | 63-195| 150 M6 v X
€S1000V1 | 1000 | 938 | 6-50 | 61-230 | 150 M6 X v
CSE1000V1| 1000 | @38 | 6-50 [61-230] 150 | G1/8” | v~ X
€S1800V1| 1800 | @50 | 6-65 | 66-220| 150 | G1/8” X v
CSE1800V1 | 1800 | @50 | 6-50 [ 66-220| 150 | G1/8” | v~ X
CS3000V2 | 3000 | @63 | 10-65 | 85-256 | 150 G1/8” X v
CSE3000V2| 3000 | @63 | 10-50 | 85-205| 150 | G1/8” | v~ X
CS4700V1 | 4700 | @75 | 10-65 | 80-273 | 150 | G1/8” X v’
CSE4700V1| 4700 | @75 | 10-50 [ 80-240 | 150 | G1/8" | v~ X
CS7500V1| 7500 | @95 | 10-65 | 90-279 | 150 | G1/8 X v’
CSE7500V1| 7500 | @95 | 10-50 [ 90-255| 150 | G1/8” | v~ X
€S11800V1| 11800 | @120 | 10-65 |100-320| 150 | G1/8” X v
CSE11800V1| 11800 | @120 | 10-50 [100-260| 150 | G1/8” | W~ X
CS 18300V | 18300 | @150 | 10-65 |110-323| 150 | Gi/8” X v
\CSE 18300 V| 18300 | @150 | 10-50 [110-270] 150 | GIB" | (.~ X
I\E mm
=
ﬁ mm / :
) | L= _S—
I[[L|’1 (i ) (L1=170) | (1=795)
mm ; 4
Fo (1000) 750)
ﬂ (000) {1000 750 2000 1800
daN (1000) 750 (1000)
MODEL x ([::\211%%% AS 1000 g} }000000 c[;v'”nsgu AG 750 CP 2000 CS 1800
CZ 1000 FD 750 CD 1000
MINI COMPACT | THREADED LOW HEAVY IS0 HEAVY GDMPABT
HEIGHT PROFILE DuTY LOAD STROKE
seRiEs (|0 || & k1
i Hllle =
\_ S

A9



ORSA™

212

M6
Dolum Yeri

Dolum Yeri

M4x8
x2)

‘ 212

As0

URUN S
KODU (m m)
CS 420 006 6
CS 420010 10
CS 420016 16
CS 420 025 25
CS 420032 32
CS 420 040 40
CS 420 050 50

| CSE420V1 |

URDN S

KODU (mm)
CSE420006 @6

CSE420010 | 10
CSE420016 = 16
CSE420025 = 25
CSE420032 = 32
CSE420040 | 40
CSE420050 = 50

1
0,25
(mm)

56
70
91
120
140
165
195

1
0,25
(mm)

70
91
120
140
165
195

125
145

108
125
145

—_—

www.orsa-ltd.com

100 120 140 16

Fo
[ e — i {0

Fx2,0
18
sl )/
ﬂ_ Fyx14 / /
Fyx12
F,

5
§ e (mM)

40

6 30
20

10

[

Max
S/min

——

6 10 16 25 32 40 5

(mm)

=T

(Cs 420 050 V1)
SIPARIS ORNEGI

(daN )

100 120 140 165
(bar)

Fyx24
F,x22 ’
F,x2,0 l I
F,x18
JIL F:1,S / A
F=q Fox14
|@| Foxi2 %%
Fy 6 10 16 25 32 40 5(
S (mm)
60
oo
w
=
0
Max kI 16 25 32 A 50
S/min (mm)
F
) i
=] daN. mm|
CSE 420 50
Ma-25 L&) r— T
D02-25 CSE 420 050 Vi
600 CP- SiPARIS ORNEGI




—

ORSA"™
www.orsa-ltd.com

CST70V2 |

URUN S +!)-125 L Y
i KODU (mm) | (mm) | mm) ]
CS770006 6 63 | 57 | Ll N

Fo
(E5%) P e (bar )

CS 770010 10 | 75 65

L1| CSTI0016 16 93 | 77
1 CS770025 25 120 95 i/
CS 770032 32 | 140 108 T e e

CS 770 040 40 | 165 125
CS 770 050 50 | 1% 145

Dolum Yeri Max 6 10 16 25 32 4 50
_M6x6 S/min (mm)

Ehﬂ — T

SiPARIg ORNEGI
- =20 —
g [N S HLIL a
- KoDU (mm) | (mm) | (mm) T
g ! CSE770006\1 6 57 | | SEEEEEEEE
|| csEmmotovt 10 B 65 —
R ! CSE770016V1 16 9 | 77 S
CSE770025\1 25 | 120 @ 95 \ o /
. CSET70032V1 2 | 140 108 | e e
’ I CSE770040\1 40 165 | 125 %
P CSET70050V1 50 | 195 145 T ; —
4 om M bag |
cstﬁ%’;J HEH"U
@15 Ehﬂ
600 CP- SiPARiS ORNEGI

A51



ORSA™

| @38
-

M6
Dolum Yeri

~M6X7
(x2)

A52

GRON S U
KODU o) {rim)

CS1000006 | 6 61
cs1o00010 10 | 77

CS 1000016 16 100
CS 1000 025 25 135
CS 1000 032 32 167
CS 1000 040 40 195
CS 1000 050 50 230
 CSE 1000 V1 |
URUN S U
KODU ) |

CSE1000006 6 61
CSE1000010 | 10 | 77

CSE1000016 16 = 100
CSE1000025 25 @ 135
CSE1000032 32 @ 167
CSE1000040 40 @ 1%
CSE1000050 50 | 230

110
135
155
180

110
135
155
180

—

www.orsa-ltd.com

(daN )
=
I
t14
b 00
A 2030 50 70 90 10 130 150
u P (bar)
(daN )
Fox18
Fx15
Foxt4 yivi /
JIL Fxtaf—f
- - F,x12
Fo 6 10 16 25 32 4 E
S (mm)
—
0 16 25 32 4 50
(mm)
T e |
T
= dan mm)
CS 1000 50
e
€S 1000 050 V1
SIPARIS ORNEGI

P (har)

50
——— 1 D]

jic N
s
: =
0
Max o 6 10 16 25 32 40 50
S/min (mm)
F
)
= daN. mm,
CSE 1000 50
238 o) — T
Ada- CSE 1000 050 V1
600 CP- SiPARI§ ORNEGI




——

ORSA™
www.orsa-ltd.com

CS 1800 V1
URON S i
0,25
KODU (mm) | (mm)  (mm) | T, =
CS1800006 6 | 66 60 | L) =
CS1800010 10 8 70 — =
S1800016 | 16 106 = 90 =
CS1800025 25 135 110 ey oy
CS1800032 32 162 130 e e
CS1800040 = 40 | 190 150 .
‘ CS1800050 50 220 170 | P
Dolum Yeri CS 1800 065 65 271 206 t:
7M6X8 srlﬂ"a‘f" 10 16 25 32 40 50 (m":E)
(x2) ]
— T
SiPARIg ORNEGI
[ e % CSE 1800 V1
Lo URUN S +(!-35 L s
1 | | KoDU (mm) | (mm) | (mm) @ —
145 3 | CSE1800006 6 | 66 @ 60 R e e e o
, | csE1800010 10 80 | 70 = —
R15- L1 e e
|| CSE1800016 16 | 106 | 90 i
|| CSE1800025 25 | 135 110 RS f%
|®| Fa T
5, CSE1800032 | 32 162 130 N
i : 1«;,5, 1 | CSE1800040 40 190 | 150 .
s - 08 - | CSE1800080 |50 | 20 | 10 o =
= % go[u/gYeri D% fE
) hgxszx)a sr/ﬁ"a‘f" 0 6 10 16 25 32 40 1"":0)
T
h-ﬂ '_§§'__E]I§Im 50
L g
600 CP- SiPARiS ORNEGI

AS3



—_—

ORSA™
www.orsa-ltd.com

p
URON S 1L -
KODU e
(mm) | (mm) | (mm) T,
cssoo0010 10 & 75 LU 1 e e o
€S3000016 | 16 103 87 ( & =
CS3000025 25 130 105 e
CS3000032 @ 32 150 | 118 %, e
cs 3000 Mo 40 175 135 FEX1§ 10 16 25 32 40 50 (mr:ls)
— CS3000050 50 205 155 "
_ @63 T~_g1/s %
ous | CS3000065 | 65 | 256  19f T :
_~M8x10 10 16 25 32 40 5 65
(XZ) s%:fn (mm)
cs 3l'||)l]
O
SIPAHI$ ORNEGI
p
236 . (daN ),
.| URON S U L b -
025
i KODU (mm) | (mm) (mm) (T,
CsE3o00010 | 10 | 8 | 75 |l b
(£5%) —P(har
., | CSE3000016 16 103 &7 — ’
L CSE3000025 25 130 105 s /
CSE3000032 32 150 @ 118 @ sl
CSEsuonm 40 175 135 st' 0 16 25 32 & (m:)
1991t (CsE3000050 50 @ 205 @ 155 .
8 35
G1/8” ®
Dolum Yeri ér\/\/\ T 15
min’)
y M8X10 Ma)_( 1 16 25 2 40 50
(X2) S/min ( mm)
I CSE 3n°65 5l]
@34 =1
- -
SIPAHI$ ORNEGI




ORSA™

-
M8 ~ 950 _

! I

S

i

3

L1

L
! !
G1/8”
Dolum Yeri

M8x10

(x4)

. 240

URON

KODU

CS 4700010
CS 4700 016
CS 4700 025
CS 4700 032
CS 4700 040
CS 4700 050
CS 4700 065

URON
KoDu

CSE 4700 010"
CSE 4700 016
CSE 4700 025
CSE 4700 032
CSE 4700 040
CSE 4700 050

REERINS B2

1
+0,25
(mm)

106
135
167

240
273

+0,25
(mm)

80

106
135
167
200
240

110
135
160
190
208

(mm)
70
90
110
135
160
190

—

www.orsa-ltd.com

(daN )

24 5

F,
(£5%) P s> ( har )

0 7t 0 110 130 150

=
151—f—/
/

10 16

25 32 40 50 65

25 32 40 5 65
(mm)

i =
i i

CS 4700 50

=
SIPARIS ORNEGI
(daN )
4000
00 ==

F,
(#5%) P e (par )

0 70 90 110 130 150

5%
N
S

1
F 5
I e ——— (1|}

600 CP-

S e iam
N i
Ehﬂ l__r'css_%zuu 50

CSE 4700 050V1
SIPARIS ORNEGI

A55



—

ORSA"
www.orsa-ltd.com

( | CS7500V1
I URUN s L1 L ¥y =
i 10,25
KODU (mm) | (mm) | (mm) | ]T'

CS7500010 | 10 0 80 m
CS7500016 | 16 116 | 100

L1 (daN)
Fyx,

CS7500025 25 145 | 120

2030 50 70 90 110 130 150

Fo
(#5%) P - ( har )

! v
CS7500032 32 | 182 150 I n
,| CS7500040 40 | 210 | 170 B
e o | CSTS00S0 50 | 255 20 ,
ooumYet | CS7500065 | 65 | 279 214
M8x12
) I

S/min (mm)
— T
SiPAHi$ ORNEGI
[ [ CSE 7500 V1
i URUN S u L 'y
! +0,25
KODU (mm) | (mm) | (mm) 1T
CSE7500010 10 90 | 80 (eliwmb o)
.1 CSE7500016 16 | 116 = 100 (,P fho
CSE7500025 25 @ 145 = 120 ‘:i:ﬁ
Fyx14 i
CSE7500032 32 | 182 | 150 ral/
| CSE7500040 40 210 170 (&} s% e
T ges g | CSETS00080 50 | 255 | 205
M8x12 [AVAVAS I
(x4) —
sflﬁ,:f" 10 16 25 32 40 (mr:lb)
JLET
e
600 CP- SiPARiS ORNEGI

A56



—

ORSA"
www.orsa-ltd.com

CS 11800 V1

ﬂRUN S (!_‘2|5 L )
KODU o) (mm)  (om) [ | = =
cs11800010 10 | 100 90 |lel et

CS11800016 | 16 | 126 | 110

CS11800025 25 155 130 a7/
CS11800032 32 | 187 155 sl /
CS11800040 40 | 220 180 R~
- e0 _eue | CS11800050 50 | 260 | 210 - ,
CSE7500065 65 320 @ 255
7|
S'I“"a‘f" 10 16 25 32 40 50 (mn:s)
< i
SiPARI§ ORNEGI
g
500
URUN s I_1 L (daN )
10,25 8000 T
KODU (mm) | (mm) | (mm) 1T,
CSE11800010 10 = 100 | 90 i 0 e o e

Fo
(#5%) P - (Y )

(daN )
Fox15

CSE11800016 16 126 110
CSE11800025 25 155 & 130 I 17/
CSE11800032 32 | 187 | 155 || el /,
CSE11800040 40 220 = 180 o]
CSE11800050 50 = 260 | 210

0 16 25 32 40 60 65
(mm)

< i
Exhﬂ

SIPARIS ORNEGI

A57



ORSA™

G1/8”
Dolum Yeri

M10x12
(x4)

URUN
KODU

M10x12
(x4)

A58

CS 18300 V1
URON
KODU
CS18300010 10
CS18300016 | 16
CS18300025 @ 25
CS18300032 | 32
CS18300040 @ 40
CS18300050 | 50
CS 18300065 @ 65

S

(mm)

—

mm)

CSE18300010 10
CSE18300016 16
CSE18300025 25
CSE18300032| 32
CSE18300040 40
CSE 18300050 50

(mm)
100
120
140
165
195
220
258

(mm)
100
120
140
165
195
220

—

www.orsa-ltd.com

(daN

)

Fo
(£5%) P sl (DT )

2030 50 7 0 110 130 150

10 16 25 32 40 50 65
§ e (MM )

10 16 25 32 40 5 65
(mm)

o 1L

CS 18300 5l
e |
CS 18300 050 V1
SIPARIS ORNEGI

(daN )

2030 50 70 8 110 130 150
P i (bt )

Max
S/min

1 16 25 32 40 6 65

# . i

CS 18300 50
e |
CS 18300 050 V1
SIPARIS ORNEGI

(mm)
el
X




ORSA"

GAZLI YAYLI CIKARICILAR

F‘
KoD RENK
bar | psi daN daN
EF 050 |Yesil | 20 | 290 6 8
EFG 1611050 [Mavi | 40 | 580[ 11 i
E' 1050 [Kirmizi 75 | 1090] 21 30
2050 [San_| 150 | 2175 42 55
\gFewxxoso Siyah [20-180[=02610  6-50 8-70
-
L1
) Dolum Yeri
HExmg
"%) F,
b, F,
KoD RENK
bar | psi daN daN
[EFGC 166 050 |Yesil | 20 | 290 6 8
EFGC 16 11050/Mavi | 40 | 580 11 i
_g'ec 1 050[Kirmizi_75 | 1090] 21 30
2050/San_| 150 | 2175 42 55
\F_Fsmsxx 050/Siyah [20-180[zs02610]  6-50 8-70

URON S
KODU (mm)
EFG16—010 10
EFG16-—020 20
EFG 16030 30
EFG16--040 40
EFG16---050 50
EFG16---060 60
EFG16--070 70
EFG16--080 80
EFG16---100 100

URON S
KODU (mm)
EFGC16--010 10
EFGC16--020 20
EFGC16---030 30
EFGC16-—-040 40
EFGC 16--050 50
EFGC 16— 060 60
EFGC16--070 70
EFGC16-—-080 80
EFGC16--100 100
EFGC16--125 125

1
+0,25
(mm)

80

100
120
140
160
180
200
220
260

L1
0,25
(mm)

65

85

105
125
145
165
185
205
245
295

100
110
120
130
140
160

105
115
125
145
170

www.orsa-ltd.com

(daN)

0 40 60 80 100 120 140 160 180

Fo
(£5%) P i (Bt )

|
i!g I |

10 20 30 40 50 60 7 100
e (TN )

Max
S/min

® T i

EFG 16 50

EFG 16 5ﬂ [)51]

SIPARI$ ORNEGI

(daN )

0 0 80 100 120 140 160 180

Fo
(E5%) P o3 (har)

F
°0 10 20 30 40 50 60 70 80 100 125

(EFGC16 50 050 )

SiPARIS ORNEGI

A9



ORSA™

KOD RENK

bar | psi

[ EFGQ 1613050 Yesil | 20 | 290 6 8

EFGQ 1625 050 Mavi | 40 | 580 1 15
[ EFG0 1638 050 [Kirmiz{_75 [ 1090 21 0
EFGQ 1650 050[Sar_| 150 [ 2175 2 55
\EFGQ 16 XX 050[Siyah |20 6-50 870

-

-—T‘ —~—6
|

@20

HEX10 —

FD
b, F,
KoD RENK
bar | psi daN daN

Ef 050 |Yesil | 20

E 1050 |Mavi | 40 | 580 11 15
E 1050 [Kirmiz{_75 | 1090 21 30
Ef 2050 [San | 150 [2175] 42 55
\EFT 16 XX 050 |Siyah |20 650 870

A60

URUN

KODU

EFGQ 16 --- 007
EFGQ 16 --- 010
EFGQ 16 --- 012
EFGQ 16 --- 015
EFGQ 16 --- 025
EFGQ 16 --- 038
EFGQ 16 --- 050
EFGQ 16 --- 063
EFGQ 16 --- 080

—

mm)

10
127
15
25
38
50
635

URON

KODU

EFT 16 --- 010
EFT 16 - 015
EFT 16 --- 020
EFT 16 --- 025
EFT 16 --- 030
EFT 16 - 040
EFT 16 --- 050
EFT 16 --- 060
EFT 16 --- 070
EFT 16 --- 080
EFT 16 --- 100
EFT 16 --- 125

(mm)
10
15
20
25
30
40
50
60
70
80
100
125

L1
+0,25
(mm)

56

67.4
72

R

118
142
172
205

L1
0,25
(mm)

75

95

105
125
145
165
185
205
245
295

108.5
125

(mm)
95
60
65
70
75
85
95
105
115
125
145
170

www.orsa-ltd.com

0 40

Fo. 50 80 100 120 140 160 180
(#5%) P - ( ba )

o %18
Fyx1,7)
Fox18
Fyx1,
Fox1.4
Fox1,:
b o Fox1,2]
Fox1,1
Fo,
0 7 15 25 38 50 63,5 80
S (mm)
70
N
[AVAVA —
min") 10
Max 15 38 50 635 80
S/min (mm)

(EFGQ 16 50 050 )

SiPARiS ORNEGI

0 40

Fo
(£5%) P i ( har)

0 80 100 120 140 160 180

i |

Fx13 //

F,
°0 10 20 30 40 50 6

(mm)
[AVAVA 1
‘min 10
Max 10 20 30 40 50 60 70 80 100 125
S/min (mm)

=
(CEFT 16 50 050 )

SiPARiS ORNEGI




ORSA"™
www.orsa-ltd.com

( (EFGD16__ |

l-le-jN s L1 L (daN )
+0,25
KODU (mm) | (mm) (mm) HIJ
EFGD16--010 | 10 | 65 | 55 R S
EFGD16--020 20 @ 8 | 65 H e ——l
EFGD16--030 | 30 | 105 | 75 ==
EFGD16--040 | 40 | 125 | 85 T /]
EFGD 16 - 050 50 145 95 Fn)“:’ﬂ 10 20 30 40 50 60 70 8( 100 125
EFGD16--060 60 @ 165 | 105 S————»um)
EFGD16--070 70 | 185 | 115 ‘
EFGD16--080 80 | 205 | 125 T ]
_ EFGD 16 - 100 100 245 145 i) M' 10 20 30 40 50 60 70 8 100 125
¢, | EFGD16--125 125 295 170 S {5
Ko HENK bar Si daN ﬂdaN
EFGD 050 |Yesil | 20 :90 6 8
1021 S0l o Lol o1 | (EFG0 16 50 050 )
é;ggwxigggzggu zﬂa égo &5'750 ngﬁﬁRNEGi
o, R
| URUN s L1 L (daN)
+0,25
KODU (mm) | (mm) | (mm) ﬂ; =
EFGL16"' 007 7 56 49 > 0 40 60 80 100 120 140 160 180

Fo
(£5%) P s> ( bl )

EFGL16--010| 10 | 62 52

EFGL16--012 127 674 547 3;7
o | EFGL16-—015 15 72 57 I?iii
L. * EFGL 16 - 025 25 92 67 |@| F:X1E=1°n 7 15 25 38 5 63,5 80
P i EFGL16--038 38 | 118 80 _—
e EFGL16--050 50 = 142 @ 92 mn
EFGL16--063 635 172 1085 % T:: ]
o - EFGL16--080 80 | 205 | 125 . 6 e e e e
() ﬂ " o o )
ko RENK bar | psi daN "daN @ ﬂ::,,J “l:m
EFGL 1613 050 |Yesil | 45 | 650 13 20 EFGL 16 50 50
ErL 6. 050 im0 | 1960] %8 |0 R
ko o S o1 _ SIPARIS ORNEG]

A61



ORSA"

Vs
L1
F
KoD RENK “
bar | psi daN daN

EFV 1613050 |Yesil | 45 | 650 13 20
EFV 1625050 |[Mavi | 90 | 1305 25 40
EFV 1638050 [Kirmizi 135 | 1960 38 60
EFV 1650050 [San [ 180 | 2610 50 80
\EFV 16 XX 050 [Siyah |20 6-50 8-80

212
[} i
S
L1
L
1 1
M6
Dolum Yeri
HEX17 —‘ -
& e
b ﬂF‘
KoD RENK
bar | psi daN daN

EFG 2423050 |Yesil | 20 | 200 | 23 40
EFG 2445050 |Mavi | 40 | 580 45 80
EFG 2485050 |Kirmiz{_ 75 | 1090] 85 150
EFG 24170 050[San | 150 | 2175] 170 300

\EFG 24 XXX 050[Slyah [20-180[=s02s10] 23-200 | 40-355

A62

URON

KODU

EFV 16 --- 007
EFV 16 --- 010
EFV 16 --- 012
EFV 16 --- 015
EFV 16 --- 025
EFV 16 --- 038
EFV 16 --- 050
EFV 16 --- 063
EFV 16 --- 080

URON

KoDU

EFG 24 --- 010
EFG 24 --- 020
EFG 24 --- 030
EFG 24 --- 040
EFG 24 --- 050
EFG 24 --- 060
EFG 24 --- 070
EFG 24 --- 080
EFG 24 ---100

S

(mm)

83 EEEB 3

L1
+0,25
(mm)

62
67.4
72
92
118
142
172
205

(mm)
70
80
90
100
110
120
130
140
160

www.orsa-ltd.com

(daN )
i
I E
1
Fo 0 0 60 0 100 120 140 160 180
(#5%) P el ( it )
( daN )
Xt 7]
F,x13 L
_ﬂ_ Fox12
Ak | Fyx11
@|J| =
‘0 7 15 25 38 0 635 80
(mm )
[ —
3 65 80
(mm )
3
(EFV16 50 050 )
SIPARIS ORNEGI
(daN )
| |
I ]
A Y —
P
Fo 20 40 6 8 100 120 140 160 175
(£5%) P > ( it )
(daN)
Fox1,9—
Fox1,
bbb =1 1 157/ A Ay A A
[ o AV 4
S
b A8 e Fox1,:
Fox1,2
| e
°0 10 20 30 40 50 60 70 80 100
S (mm )
60
I E=
Max 10 20 30 40 50 60 70 80 100
S/min (mm)
—2
A
EFG 24 200 50
— T
EFG 24 200 050
SiPARIS ORNEGI




ORSA™
www.orsa-ltd.com

p
l-le-jN s L1 L (daN ) ‘
+0,25
KODU (mm) | (mm) (mm) TT - =
EFGc 24 - 010 10 65 55 |L| F‘7 20 40 6 8 100 120 140 160 175
! EFGC24—-020 20 8 65 : —
: EFGC24--030 30 105 75 y rs .
e EFGC24--040 40 125 85 |- FE//
EFGc 24 - 050 50 145 95 |®| Eﬂ::éu 10 20 30 AJD 50 60 70 80 100 125
w EFGC24--060 60 | 165 | 105 =
EFGC24--070 70 @ 185 | 115 =
EFGC24--080 80 | 205 | 125 . I “ B
vecrr - EFGC24—100 100 245 145 | “mm | S
) T |mr, | EFGC24—125 | 125 | 295 | 170 e L1
KoD RENK n ﬂ
bar | psi daN daN
EFGC24 23050 [Yesil | 20 | 290 23 40
EFGC24 45050 |[Mavi | 40 | 580 45 80
\EFGC 24 XXX050[Siyah [20-180[=02610] 23-200 | 40-350

[ m
(daN )

URUN S 1L
+0,25 il
KODU (mm) | (mm) | (mm) @
EFGL24“-007 7 56 49 - Fo 0 40 60 80 100 120 140 160 180
L1 (£5%) r
EFGL24--010 10 | 62 | 52 — =
EFGL24--012 127 674 547 e
EFGL24—-015 15 | 72 | 57 el
o EFGL24—025 25 92 | 67 i
Daum EFGL24-038 38 118 | 80 -
@ EFGL24—050 50 = 142 @92 o N
X7 EFGL24—063 635 172 109 |DoL | = =
) ﬂﬂ . | EFGL24—-080 80 205 125 L
oo (e T |y W..| eFoL2a—100 100 215 145 ® L i
Ciusoom o ieo o = | EFGL24—-125 125 | 205 170 | P
(o540 o0 A | T3 EoLam )
\EFGL 24 XX 050 [Siyah [20-180] 10-90 13120 SIPARIS ORNEGI

A63



ORSA™

M24x1,5 =t

Dolum Yeri
HEX 17 ————=-

HEX 25 =
7N
[T
S F,
KoD RENK
bar | psi daN daN
EFK2423050 |Yesil | 20 | 200 23 40
EFK2445050 |Mavi | 40 | 580 45 80
EFK 2485050 [Kirmiz{_75 | 1090 85 150
EFK24 170 050/San | 150 | 2175] 170 300
\EFK 24 X00X 050/Slyah |20-180[asu2s10] 23-200 | 40-355
-
L1
7N
=g
S F,
KoD RENK
bar | psi daN daN
EFV 2430050 |Yesil | 60 | 870 30 4
EFV 2450050 [Mavi | 100 [ 1450 50 65
EFV2470050 |Kirmiz[ 140 [2030] 70 %
EFV2490050 [Sari [ 180 [ 2610 90 120
\EFV 24 XX 050 [Siyah |20 1090 [ 13120

A64

URON

KoDu

EFK 24 --- 010
EFK 24 --- 016
EFK 24 --- 020
EFK 24 --- 025
EFK 24 --- 030
EFK 24 --- 038
EFK 24 --- 040
EFK 24 --- 050
EFK 24 --- 060
EFK 24 --- 070
EFK 24 --- 080
EFK 24 --- 100
EFK 24 --- 125

(mm)
10
16
20
25
30
38
40
50
60
70
80
100
125

URON

KODU

EFV 24 --- 007
EFV 24 --- 010
EFV 24 --- 012
EFV 24 --- 015
EFV 24 --- 025
EFV 24 --- 038
EFV 24 --- 050
EFV 24 --- 063
EFV 24 --- 080
EFV 24 ---100
EFV 24 --- 125

63.5
80

100
125

121

125
145
165
185
205
245
295

www.orsa-ltd.com

(daN )
L | ‘\ |
(mm) | JT; =
e s
Fll 20 4 6 8 100 120 140 160 175
(25%) P s> (a1 )
61
65 Gt ) o
i metae
F,x186
70 ey
|®| s
75 i
"0 10 20 30 40 50 60 70 80 100 125
83 S (mm)
85 RS
50— T
9% ARE =
20
min) 10
105 Ma)_( 9 10 2 0 40 50 60 70 B 100 125
115 S/min (mm) |
125
145
(EFK 24 90 050 )
170 SIPARIS DRNEGI

) [T |
n L] B

|
0 80 100 120 140 160 180

& p (bar)
52 Taan )
547 I I
57 Fox 1,1 / Z
67 anﬂ 10 25 38 50 635 80 100 ("";2:
80 T
o) sl
1085 (RAL | = =

125

50 635 80 100 125
(mm)

145
170

(EFV 24 90 050
SiPARI$ ORNEGI




